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Meaningful organization of operational signs and numerical letter symbols is called
Algebraic Expressions
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Algebra is the generalization of arithmetic
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01. Which one is not an Algebraic equation?
(a) 2x+2y+5z (b) 3x /\)@)”ﬂ (d) 9xy+72zx




ASAMATOS STAIRICT (ALGEBRAIC FORMULAE) -
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Any general rule or resolution expressed by algebraic symbols is called Algebraic
Formula.

A - L -
4 (Formula) > : (a+b)?=a%+2ab+b? ; (&+0) - Aeb - 0l 9T, O
R
19 (Formula) X : (a — b)2= a? — 2ab + b? ) QQAO\L 20l = altb o — R
W@ (Corollary) d ¢ a? + b2 = (a + b)?—2ab
W (Corollary) R 8 a% + b? = (a — b)?+2ab

m (Corollary) © ¢ (a + b)%= (a — b)?+4ab
S



ASANATOS STAIRICT (ALGEBRAIC FORMULAE) -

@IS (Corollary) 8 ¢ (a — b)2= (a + b)2—4ab

o 2 2 _ (atb)?+ (a-b)?
W(Corollary)(ﬁ a“ +b* = 5 e




Poll Question-02

0. [Awma @[T = 73

02. Which one is not correct ?
2_ 2
(a) (@ + b)?= (a — b)2+4ab  Abfa? + b2 = &2 @7D)

(c)a® + -+ b?% = (a—L b):+2ab (d) (a —b)?= (a + bz)2 4ab
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ASANATOF STAIRICT (ALGEBRAIC FORMULAE) -
RIS (Corollary) &3 ab = (10)2—(12)?

(Formula) O:a’?—-b%?=(a+b)(@a—-b)
K n; SO (Torsar

ﬁa—(Formula)S (x+a)(x+b)—x + (a+b)x+a
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ASAMATOS STAIRIT (ALGEBRAIC FORMULAE) -

?W@? A=A/ (Extension of formula for Square):-
(a+ b+ c)? > {(a + b) + c¢}?

314 (Formula) ¢ : (a + b + ¢)% =(a? +b? +c? +(2ab + 2bc + an)
SPT&IS (Corollary) A 8 a? +b% +¢2= (a + b + ¢) — 2(ab + bc + ca)

SqRT@IS (Corollary) b- ¢ 2(ab + bc + ca) = (a+ b + 0)2 i +b? +c2)



Poll Question-03
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03. Which oneis not correct ?

(a)(@a+ b + ¢)? = a? +b% +c? + 2ab + 2bc + 2ca
(b)a? +b? +c?=(a+ b+ c)? —2(ab + bc + ca)
(&)2(ab+bc +ca) = (a+b + ¢)? F (a%2+b? +c?)



PIGT (ACTIVITY) : [Text Book, Page no-48]

(TR Y] If AT ( Find the square with the help of the formulae) :

1) 3xy +2az 2)4x -3y 3)x -5y +2z
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PIGT (ACTIVITY) : [Text Book, Page no-51]

| TR 2 _ _ 2

d. T T (Simplify) & (@:&m +2(4x + 3y) (4x - 3y) + (4x = 3y)

R x+y+z=129R x% +y% +2% =50 A, (x — y)2+(y — 2)*+(z — x)? G A0 ?
2. K x+y+z=12and x%+y?+z% =50, whatis the value of

(x — )2 +(y — 2)%+(z — x)?? )
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TA\J —(
@y - 50 OZC%?}&T%AP;

= e e A 22+ A 2 2ex ex®
SR - a lar = So o+ 2 (v gy

. R T
O iy S el L g < ey
- AX SO0 — O)L‘ B B o —D
= oo -9y =( W R R S Wl

()



) I FF ( Simplify) 8
) 2m+3n—p)2+2m —3n+ p)2-202m+3n—p)(2m —3n+
) @m+ 3n = p)*+(2m = 3n + p)*22(2m + 3n — p)(2m — 3n + p)
N v - b
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(8)a+b=9m YR ab=18m? (T, a—-b QI A PO ?
(4) Ifa+b = 9m and ab = 18m? , What is the value ofa — b?

(&/\OY _ <a+b§l,L(Qb (LLZ: Y : Y—H :+1/_L
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08. 2x+§=3?@_‘1’x2+x—12=?
04. If2x+2=3,then x2+iz=?
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(3)a+b+c=99R ab+bc+ca=31 XA, a?+b*+ 29I JAFO?
(9)Ifa+b+c=9andab +bc+ca=31 whatisthe value of a2 + b%? + ¢??

Qa+\o+c> o&\—\}«kéQ +2((ﬁr) +ve #em)
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fo¢. x———4§@1'x +——7W

05. Ifx———é then x* +—
(a) 321 (b) 326 wg%éé (d)124
& 2
9(9'—1«\—rz = (&
2—5(; = @) < ?l> (%)
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' x =322
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